6.1.2

1) sS
@
6.1.2-1
6.1.2-1
/
G 30 5 2 30 9 19 30 11 14 31 2 6
H 30 4 18 30 9 19 30 11 14 31 2 6
N-1 0 5 1 30 9 3 1 31 2
St.a St.b St.c 20 21 15 16 7 8
N-4
30 4 1 30 7 18 - -
N-4.1 N-4.2
G G 30 4 11 12 4 24 25 6 14 15 9 29 30 12 26 27
H H 30 4 12 13 4 2425 6 34 6 1415 7 2 9 29
30 12 6 7
N-1 St.a 3 4 11 12 4 2425 6 3 6 1415 7 23 9 29
30 12 6 7 12 26 27
St.b 30 4 11 12 4 2425 6 3 4 6 1415 7 23 9
29 12 10 11
St.c 30 4 11 12 4 2425 6 3 4 6 14 15 7 4 9 29
30 12 10
N-4 N-4.1 3 4 11 12 4 17 18 6 14 15 7 2 3
N-4_2 3 3 16 17 4 12 4 17 18 5 12 13 6 14 15 7
2 3
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a) (SS )
6.1.2-2
JIS K 0094 8
6.1.2-2
SS( ) 59 9
JIS K 0101 9
b) (SS )
1
10 SS
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( 1SCO( ) 3700 6712
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(4)

a)
(@) G
G 6.1.2-3
SS 1mg/L 0.1 0.2
0.0001m*/s
6.1.2-3 G )
SS
/L) | () (°/s)
30 5 2 1 0.1 0.0001
30 9 19 1 0.1 0.0001
30 11 14 1 0.1 0.0001
31 2 6 1 0.2 0.0001
() H
H 6.1.2-4
SS 1mg/L 2mg/L 0.7 0.9 0.0093 0.0258m*/s
6.1.2-4 (H )
SS
(mg/L) (@) (m*/s)
30 4 18 1 0.8 0.0258
30 9 19 1 0.8 0.0093
30 11 14 1 0.7 0.0121
31 2 6 2 0.9 0.0105
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(©) N-1 St.a
N-1 St.a 6.1.2-5
SS 1mg/L 0.2 0.3 0.0002
0.0004*m/s
6.1.2-5 (N-1 St.a)
SS
(mg/L) (@D) (m*/s)
30 5 1 1 0.3 0.0004
30 9 20 1 0.2 0.0002
30 11 15 1 0.3 0.0003
31 2 7 1 0.3 0.0002
(d) N-1 St.b
N-1 St.b 6.1.2-6
SS 1mg/L 0.2 0.3 0.0001m*/s
0.0006m*/s
6.1.2-6 (N-1 St.bh)
sS
(mg/L) (@) (m*/s)
30 5 1 1 0.3 0.0002
30 9 20 1 0.2 0.0001
30 11 15 1 0.2 0.0006
31 2 7 1 0.2 0.0001
(e) N-1 St.c
N-1 St.c 6.1.2-7
SS 1mg/L 0.1 0.4 0.0006
0.0018m%/s
6.1.2-7 (N-1 St.c)
ss
(mg/L) ) (m*/s)
30 5 1 1 0.1 0.0006
30 9 21 1 0.3 0.0011
30 11 16 1 0.2 0.0018
31 2 8 1 0.4 0.0012
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(f) N-4 N-4.1

N-4 N-4_1 6.1.2-8
SS 1mg/L 0.1 0.2 0.0007
0.0030m%/s
6.1.2-8 (N-4 N-4.1)
sS
(mg/L) ) (m/s)
30 4 11 1 0.1 0.0007
30 7 18 1 0.2 0.0030
(g) N-4 N-4.2
N-4 N-4.2 6.1.2-9
SS 1mg/L 2mg/L 0.2 1.7 0.0004 0.0016m/s
6.1.2-9 (N-4 N-4.2)
sS
(mg/L) ) (m/s)
30 4 11 2 1.7 0.0004
30 7 18 1 0.2 0.0016
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b)

(@) G
G 6.1.2-10
5 SS 12 45mg/L 5.5 16.2
SS 24 46mg/L 180 1,908m%/h
SS 30 9 29 30 SS
6.1.2-5 6.1.2-6
6.1.2-10 G )
ss ss
me/L) | () | gy | @imy | ) (/)
30 4 11 16 51 37.5(4/11) | 84.0(4/11)
30 4 12 155 | 24 |9° L2715 1 35 5(ar12) | 112.0(4712)
30 4 24 20 13 33.5(4/24) | 44.0(4/24)
30 4 25 19:13| 2|50 1,908 1o oear2s) | 0.04725)
30 6 14 11 25 22.0(6/14) | 84.5(6/14)
0 6 15 10025 | 9 | 100 24 357 | 21.0(6715) | 111.5(6/15)
30 9 29 7 08 20.0(9/29) | 187.5(9/29)
30 9 30 6 08| ©° |12 46 99 1 1 0eas30) | 2.5(9/30)
30 12 26 15 38 13.0(12/26) | 52.0(12/26)
0 12 27 14 38| 2 | 187 46 180\ o 5(12727) | 1.0¢12/27)
sS
)
EEmSS(mg/L) R (mm/h)  —— SS(mg/L)
100 — . l..."llllll I I.',l ' . 0
80 s |+ 10
9/29 21:10 %
= 60 ——— 46mg/L  (+ 20
£
iéf 9/29 12:00 / =
2 40 | 20.0mm/h I b= ss - 30
l 9/29 21:08
20 45mg/L T 40
0 - . sl 50
o o o o o o o o o o o o o o o o
& 8 8 8 8 8 8§ & 8 8 8 8 8§ § § 9
o n o0 — o (42} (o) (o)} (o] [Fp] o0 — o m o N
— i — o - - - (o]
9/28 9/29 9/30
)
6.1.2-5 G SS ( 30 9 29 30 )
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6-14

] (mm/h) —— (m) —— (m3/h)

15 . l...ullllll | [T . . 0
12 10
< 1 9302125 <
£ =09 — 959m3/h |-+ 20 E
ZE ——— £
‘;(' 9/29 12:00 -
- 0.6 -+ 20.0mm/h H- 30

9/30 21:25
03 J’- 042m |+ 40
0 50
o o o o o o o o o (@) o o o o o o
S 8383 383 88 8 8 8 8 383 88 & &8 &8 38 8
o [Vp] o0 i o on (o] (@)} o N o0 — o [e0] (Vo] (o)}
i i i o i i i N
9/28 9/29 9/30
)
6.1.2-6 G ( 30 9 29 30 )
(b) H
H 6.1.2-11
7 SS 12 94mg/L 5.5 64.2
SS 16 93mg/L 982 17,605m%/h
SS 30 4 12 13 SS
6.1.2-7 6.1.2-8
6.1.2-11 (H )
ss ss
oD | ) | e | @iy | ) (/)
0 4 12 12 19 35.5(4/12) | 112.0(4/12)
0 4 13 1119| M |42 % 12,975 | o 5(a713) | 0.5(4713)
30 4 24 20 07 33.5(4/24) | 44.0(4/24)
0 4 25 19:07| 2 | 87 3 15,103 | o oarzs)y | 0.0¢ar25)
30 6 3 6 10 6.5(6/3) | 25.5(6/3)
0 6 4 5 10 | 2 |55 16 1,025 15 0era)y | 4.5(6/2)
0 6 14 11 27 22.0(6/14) | 84.5(6/14)
0 6 15 10:27 | 40 | 137 % 5,326 | 51 o¢6r15) | 111.5(6/15)
0 7 2 6 36 11.5(7/2) | 62.5(7/2)
0 7 2 18 36| '* |81 i 13,014 | 5 5(7/3) 12.0(7/3)
30 9 20 7 28 20.0(9/29) | 187.5(9/29)
30 9 30 6 28| 2 |21 56 17,605 | 4 oas30) | 2.5(9/30)
0 12 6 15 10 17.0(12/6) | 23.5(12/6)
0 12 7 1410 2 |33 53 B2 | o5012/7) | 0.5(12/7)
ss
)




EEmSS(mg/L) (mm/h) — SS(mg/L)

150 . 'l T 0

120 SS 10
- | 412199 <
= 90 = 94mg/L 20 g
£ 4121300 N \ -]

2 60 H 35.5mm/h \ | ss(mg/L) 30

4/12 19:20

30 \\h 93mg/L 40

0 I\ﬂ& I- ! -~ N 50

o o o o o o o o o o o o o o o o

o o o o o o o o o o o o o o o o

S & & & & ;b ® o4 S &M 6 & N n 6 oo

i i i o - — - o
4/12 4/13
)
6.1.2-7 H SS ( 30 4 12 13 )
[ ] (mm/h) —— (m) —— (m3/h)

20 - " T 0
16 10
ey —_
= - 4/12 19:20 <
E = 3 I
= §12 12,975m3/h 20 £
— ~—
X gl 30

4/1213:00 ——> l 4/12 19:20

4 35.5mm/h }(_ 1.04m 40
0 g—#% 50

o o o o o o o o o o o o o o o o

© © © © ©9 © © © O © © © O o o o

o (90} (Vo) ()} (qV] [Tp] 0 i o o (o] D N n e} —

— — — o i i i o

4/12 4/13
)
6.1.2-8 H ( 30 4 12 13 )
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(c) -1 St.a
N-1 St.a 6.1.2-12
8 SS 2 47mg/L 1.4 26.8
SS 21 139mg/L 28.6 2,358m°/h
SS 30 9 29 30 SS
6.1.2-9 6.1.2-10
6.1.2-12 (N-1 st.a)
ss ss
mo/L | ¢ Y | ey | @imy | (/)
30 4 11 16 52 37.5(4/11) | 84.0(4/11)
30 4 12 0 52| 2 |84 87 2,349 | 35 504712) | 112.0(4/12)
30 4 24 20 20 33.5(4/24) | 44.0(4/24)
30 4 25 0 23| 2 1.4 28 1,033 1 oqarasy. | 0.0¢ar25)
30 6 3 16 23 6.5(6/3) | 25.5(6/3)
30 6 3 2023 | 2 [ 7° 21 28-6 15 0(6s4) | 4.5(6/4)
30 6 14 11 50 22.0(6/14) | 84.5(6/14)
0 6 15 10:50 | 7 | 158 “ 837 | 21.0¢6/15) | 111.5(6/15)
30 7 2 6 06 11.5(7/2) | 62.5(7/2)
30 7 3 5:06 372 % 36 1353 | 12.00/3)
0 9 29 7 17 20.0(9/29) | 187.5(9/29)
30 9 30 6 17| * |68 139 2,358 11 0cor30) | 2.5(9/30)
0 12 6 14:41 17.0(12/6) | 23.5(12/6)
0 12 7 1041 2 | ©° 21 8-1 1osan | o507
30 12 26 16:29 13.0(12/26) | 52.0(12/26)
30 12 27 1s:29 | OF | 134 36 19210 5012727 | 1.012/27)
sS
)
@ SS(mg/L) R (mm/h)  —— SS(mg/L)
250 . l..."llllll I M . . 0
200 SS —- 10
9/29 21:10 <
= 150 « 139mg/L |+ 20 E€
od _// €
é 9/29 12:00 -
L 100 +— 20.0mm/h SS — 30
9/29 21:17
50 I | amgr | 40
0 = L*"H-"‘IUPI“- > A 50
o o o o o o o o o o o o o o o o
& 8 8 8 83 8 8 8 8 8 38 8 &8 8 & o
o n o0 — o o (e} (o)} o [Fp] o0 - o o (Vo) ()]
— — — o — — — o
9/28 9/29 9/30
)
6.1.2-9 N-1 St.a SS ( 30 9 28 30
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6-17

[ ] (mm/h) —— (m) —— (m3/h)
> y l"'ll|||||| | [T y y 0
_ 4 — 10
-y —_
= 9/29 21:05 <
£E£3 H 2,358m%h (+ 20 g
% - 9/29 12:00 L / -
- 2 +—{ 20.0mm/h - 30
9/29 21:10
1 J'M 0.33m - 40
0 — 50
o o o o o o o o o o o o o o o o
S 83 8 3 8 3 8 38 8 38 & 3 8 38 8 8
o n o0 i o (9] (Vo) [e)] (o] [Tp] 0 — o o (o] (o)}
i i i N i i i o
9/28 9/29 9/30
)
6.1.2-10 N-1 St.a ( 30 9 28 30 )
(@) N-1  St.b
N-1 St.b 6.1.2-13
7 SS 10 33mg/L 2.9 12.5
SS 16 67mg/L 249 2,020m*/h
SS 30 4 11 12 SS
6.1.2-11 6.1.2-12
6.1.2-13 (N-1 St.b)
ss ss
o/ | () | ey | @imy | ) (/)
30 4 11 16 54 37.5(4/11) | 84.0(4/11)
30 4 12 1554 | 24 | 122 67 2,020 1 55 504712) | 112.0(4712)
0 4 24 20 22 33.5(4/24) | 44.0(4/24)
30 4 25 19:2| 2 |59 42 821 | 0.0ar25) | 0.0¢4r25)
0 6 3 16 43 6.5(6/3) | 25.5(6/3)
0 6 4 15:43 | 0 | 32 16 249 15 068y | 4.56/4)
0 6 14 12 01 22.0(6/14) | 84.5(6/14)
0 6 15 11:01| 2% |12 4 59 | 91.0¢6/15) | 111.5(6/15)
0 7 2 6 35 11.5(7/2) | 62.5(7/2)
30 7 3 5:35 3 8T LOL 5 5a73) | 12.0¢7/3)
30 9 20 7 25 20.0(9/29) | 187.5(9/29)
30 9 29 145 | | 54 % 120514 oca730)” | 2.5(9/30)
30 12 10 9:36 6.0(12/10) | 52.5(12/10)
0 12 11 83| L | 2° 21 39 15 5a2711) | 8.0(12/11)
sS
)
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EEmSS(mg/L) R (mm/h)  —— SS(mg/L)
100 | B d I l l v v ' I v ' hd l | B l v l v 0
80 SS(mg/L) [— 10
<« 4/1117:20 <
= 60 67mg/L 20 €
) 1S
£ 4/11 15:00 -
2 40 +{ 37.5mm/h SS 30
\ 4/1116:54 I
20 24mg/L 40
0 - - 50
o o o o o o o o o o o o o o o o
2 2 2 2 2 2 @ Q@ 2 29 9 9 Q2 9 Q9 Q
o (4] (e} (@)} N wn 0 — o m o} (o)} (o] n 0 —
- i i o — - — o
4/11 4/12
)
6.1.2-11 N-1 St.b SS ( 30 4 11 12 )
an (mm/h) — (m) —— (m3/h)
2.5 - Il AR 'l T 0
. 2 < — 10
= T 4/1117:25 =
E £ 15 + 2,020m?/h 20 €
3= 4/11 15:00 =
\)S, 1 -+ 37.5mm/h \ 30
\ 4/11 17:25 IN\
0.5 RC 0.41m \ 40
0 LN o~ T 50
o o o o o o o o o o o o o o o o
S &9 & & & § ¢ & ¢ & & & & 9 o 9o
o (9] Vo] [e)] (o] N 0 i o o [(e] [e)} (aV] n [ee] —
— — — o i i i o
4/11 4/12
)
6.1.2-12 N-1 St.b ( 30 4 11 12 )




(e) N-1  St.c
N-1 St.c 6.1.2-14
7 SS 7 49mg/L 2.1 19.8
SS 14 45mg/L 127 4,033m/h
SS 30 7 4 SS
6.1.2-13 6.1.2-14
6.1.2-14 (N-1 St.c)
ss ss
/O | () | ey | @my | @) (/)
30 4 11 16 47 37.5(4/11) | 84.0(4/11)
30 4 12 1547 | ¥ | 198 4,033 | 35 50a712) | 112.0(4712)
30 4 24 20 17 33.5(4/24) | 44.0(4/24)
0 4 25 1917| ¥ | &7 % 2,258 | o@as2s) | 0.0¢ar25)
30 6 3 16 05 6.5(6/3) | 25.5(6/3)
30 6 4 15:05 ! 2:4 18 127V o ocera) | 4.5(672)
30 6 14 11 52 22.0(6/14) | 84.5(6/14)
0 6 15 1052 | o | 180 21 1,366 | 51 0(6/15) | 111.5(6/15)
0 7 4 7:15 17.5(7/4) | 48.0(7/4)
30 7 4 16:15 | 26 | 188 45 1788 | 1 575y | 6.5(7/5)
30 9 29 7 14 20.0(9/29) | 187.5(9/29)
30 9 30 614 | 0 | 21 40 2807\ 1 0as30) | 2.5(9/30)
30 12 10 1:48 6.0(12/10) | 52.5(12/10)
0 12 10 17:48| B | 40 14 415 s5(2711) | 8.0(12/11)
sS
)
EEmSS(mg/L) R (mm/h) — SS(mg/L)
100 L ' L L l l l ' L l ll" L ' ' L I' L 0
75 ] 10 —
) T
2 7/4800 —0u | sS(me/L)
S~
£ 50 -+ 17.5mm/h > — 7/47:45 20 £
3 45mg/L
@ ss &
25 +— 7/47:15 —> 30
26mg/L
0 h 40
o o o o o o o o o o o o o o o o
& 8 8 8 3 83 8 &8 & 8 38 &8 &8 8 & 5
o n o0 — o on (o] ()] N n 0 — o o (o] ()]
i i i o i i L o
7/3 7/4 7/5
)
6.1.2-13 N-1  St.c ss ( 3 7 3 5 )
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[ ] (mm/h) —— (m) —— (m3/h)
4 "' 'llll" I Ill' L " L I"" O
< 3 7/49:20 10 —
t = 1,788m3/h s
5 E > (S
S T2 4+ 772800 2 20 =
l(, 17.5mm/h
7/4 9:20
1 0.57m 30
0 = — row > w——— T
o o o o o o o o o o o o o o o o
& 8 3 8 & 8 383 8 & 8 8 3 & &8 38 8
§ F % g S e e & 888 g S e &S
7/3 7/4 7/5
)
6.1.2-14 N-1 St.c ( 30 7 3 5)
F) N-4.1
N-4.1 6.1.2-15
4 SS 9 55mg/L 4.5 13.7
SS 12 61mg/L 517 6,641m*/h
SS 30 7 2 3 SS
6.1.2-15 6.1.2-16
6.1.2-15 (N-4.1 )
ss ss
/O | ) | ey | @my | @) /)
30 4 11 16 39 37.5(4/11) | 84.0(4/11)
30 4 12 15:39| 20 | &4 56 6,641 | 55 5(a712) | 112.0(4712)
30 4 17 13:19 5.5(4/17) | 25.5(4/17)
0 a4 18 12:19| ° | 45 12 517 1 0.0¢a718) | 0.0(4/18)
30 6 14 11 35 22.0(6/14) | 84.5(6/14)
0 6 15 10:35 | o4 |13 2,793 | 51 0(6/15) | 111.5(6/15)
30 7 2 b5:48 11.5(7/2) | 62.5(7/2)
30 7 3 4:48 5% | 13.7 61 3,978 1 3 5(/3) | 12.007/3)
ss
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Bl SS(mg/L) A (mm/h) — SS(mg/L)
100 0
I v | ] I I I I I I LJ v v I I I
80 SS 5
// 7/2 7:45 <
S 60 ] 61mg/L 10 E
ob > S
£ 7/2 6:00 \ E
2 40 +— 11.5mm/h SS 15
7/2 7:48
20 55mg/L 20
O A N | I .h'l-‘ MY, e N 25
o o o o o o o o o o o o o o o o
© © © © & © ©6 ©6 © © © © © o© o o
o n [e0] — o o (e} (o)} o mn 0 — o m (Vo) ()]
— — — o — — — o
7/1 7/2 7/3
)
6.1.2-15 N-4.1 SS ( 3 7 1 )
s ] (mm/h) — (m) —— (m3/h) 0
I v | [ ] I I I I I I v v v I I I
. 4 5
r= (-\ —
= 7/2 7:40 <
E — 4 3 I
< E3 S 3,978m3/h 10 £
;‘ 7/2 6:00 =
— 2 1+ 11.5mm/h 15
[ \N\ 7/2 7:40
O a oy A M-— 25
o o o o o o o o o o o o o o o o
© © © © ©& © ©& © © © © © © © © o
o n o0 i o (9] (Vo) [e)] (o] [Tp] 0 — o o (o] (o)}
i i i N i i i o
7/1 7/2 7/3
)
6.1.2-16 N-4.1 ( 30 7 1
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(g) N-4.2

N-4.2 6.1.2-16
6 SS 5 50mg/L 1.8 15.8
SS 20 124mg/L 349 6,600m*/h
SS 30 4 12 SS
6.1.2-17 6.1.2-18
6.1.2-16 (N-4.2 )
ss ss
/O | () | ey | @my | @) (/)
30 3 16 10 40 12.0(3/16) | 15.0(3/16)
30 3 17 940 | L | 25 20 39 105317y | 2.003/17)
30 4 12 0:00 37.5(4/11) | 84.0(4/11)
30 4 12 6:00 5 1.8 124 6,600 | 55 5(a712) | 112.0(4712)
30 4 17 12:08 5.5(4/17) | 25.5(4/17)
30 4 18 11:08| ° 3.9 21 8% | 0.004s18) | 0.0(4/18)
30 5 12 11 40 8.0(5/12) | 21.0(5/12)
30 5 13 1040 | 2 | 70 22 422 1 6.013) | 0.0(5/13)
30 6 14 10:38 22.0(6/14) | 84.5(6/14)
30 6 15 9:38 | 47 | 158 62 4,377 1 21.0¢6/15) | 111.5(6/15)
0 7 2 6:58 11.5(7/2) | 62.5(7/2)
30 7 3 b5:58 079 60 3,482\ 3 57/3) | 12.007/3)
ss
)
EEmSS(mg/l) (mm/h) — SS(mg/L)
250 v " T - L | o ll 'lu'lll"' 0
200 SS(mg/L) 20 .
4/1117:10 <
= 4 > 4 S
= 150 / 124mg/L 40 £
£E 4/1115:00 £
% 100 1| 37.5mm/h s 60
4/12 0:00
50 UJ // 5mg/L L 80
0 o /\.\J M 100
o o o o o o o o o o o o o o o o
S & & & & & & & &6 & &6 & & & o o
o o (o) (o)} o [Fp] o0 — o o (Vo] (o)} o N o0 —
— — — o — — — o
4/11 4/12
)
6.1.2-17 N-4.2 sS (30 4 11 12 )
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[ ] (mm/h) ——

(m) ——  (m3/h)

— 8 20
% l(——— 4/1117:20 %
£ E 6 1 6,600m3/h 40
?v 4/11 15:00 — £
NS 4 +—— 37.5mm/h 60
f\ 4/1117:20 (\ M P\
0 K(\ = - 100
8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8
S & &8 §iae g S e 68 g a & 7
4/11 4/12
)
6.1.2-18 N-4.2 ( 30 4 11 12 )
2)
G SPRS
29 G G
€y
30 11 14
@
( ,29 77-81) (SPRS)
€))
6.1.2-1 G
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4

G SPRS
6.1.2-17 6.1.2-18
28.2kg/m?
(26.2kg/m? 20.2kg/m*)
6.1.2-17 G
SPRS(kg/m®)
30 11 14 28.2

) SPRS :26.2kg/m( ) 20.2kg/mé( )

ERETEN
] g

=5

|

i
k3

6.1.2-18

10kg/m?

10kg/m®  30kg/m?

30kg/m®  100kg/m®

100kg/m?
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